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«‘1& STEM teaching using Moodle ....

The course could have the detailed title “ STEM
teaching using Moodle”. We have installed almost
all of the Moodle - plugins associated with these
subjects and we have searched to find and
"upload" resources and activities that serve them.

e Core Moodle recourses
« Core Moodle activities
e Moodle plugins

e Html code

https://stem.widetraining.ar/



https://stem.widetraining.gr/

' «‘1& Contents ....

The contents of the course are categorized as follows:
* Notation and editors

* Moodle Activities & Resources

e Quiz activity

e Enfertainment! (We refer to Games plugin)

e Geogebra (We refer to the corresponding plugin)

e Formulas questions (We refer to the corresponding
plugin)

e Wiris questions (CAS) (We refer to the corresponding
plugin)



Notation and editors




Writing maths using TeX notation

Bi[a-IBlI][E[E|[elz][m[a]n
How do we write the fraction "three fourth” using TeX notation? We copy something like that and ...
modify it: Nw¢ ypapouut 1o KAGoua "Tpia Térapra” ye TeX notation? AVTIYPAPOUHE KATI TTAPOHOIO ... KQI
TO TPOTTOTTOIOUME:

$$ \frac{3}{4) $$

$% “frac{numerator}{denominator} $%
I



https://youtu.be/-pj-nr8xTps
https://docs.moodle.org/en/Using_TeX_Notation

N Writing maths using TeX in Atto
Equation editor
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https://docs.moodle.org/en/Text_editor
https://youtu.be/rwhdnicTPqs

Writing maths using TeX in Atto
. Mathslate editor

X s 1ol ae oo “ﬁ o



https://moodle.org/plugins/atto_mathslate
https://youtu.be/XEUsWFYVmCk

h Writing maths in Wiris editor

o Q X

@ WIRIS edtor - Monlla Firefox
1 stemwidetesting.info, Wb /editor/atto/pluginswirs/core/editor ntmiTang =en

*anm,oll".\')'lba
. x ¢ € C;OJ‘
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]



https://moodle.org/plugins/atto_wiris
https://youtu.be/qePnH6PFhW4

Chemisiry notation




Writing Dichromate anion using
' mhchem notation

How do we write the Dichromate anion using mhchem notation? We copy something like that and ...
modify it: Nw¢ ypagoupe 1o AiXpwiIkd avidév e mhchem notation? AVTIVPAQOUNE KATI TTapOUOoI0 ... KaI TO

TRPOTTOTTOICUNE!

Cr, 03
\(\ce{Cr20742.}\)

10


https://docs.moodle.org/en/Chemistry_notation_using_mhchem
https://youtu.be/aGMgZJy85yE

€

Writing Dichromate anion using Wiris
chemistry editor

@ WIRIS edacr - Moulla Frrefox - o x
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https://moodle.org/plugins/atto_wiris
https://youtu.be/jGXy43pvkUg

Moodle resources and
actlivities

12



Assignment with Rubric and PHET
% simulation

https://phet.colorado.edu/

= P n.m:m
() MyBleck (s) Material L Wood - J %
_ Demsity calculatio 7
Mass Q\ 2.0¢
Volume A% 5.0 ™" s o
) Wood Brick Alu
Density l ' undey. 14 Augest 2016, 447 P4

102.090 LL
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https://phet.colorado.edu/
https://youtu.be/GWHpRc4B7_k

% Lesson activity, question page

https://phet.colorado.edu/

HA + H,0 === A" + H,0*

9 )

"
”‘lm u:nmef What i the PH of a strong acid sclution with inltial «
\ ————
Views — —
[ | -
® woecues Q 4 { ccss @
0 sovee o/
O omn PR
oretS b ( Click/to Run
\O soe vens || \ /
Tools Y - -
( ‘
9 2 e N 8 e _J ~
' LD~ & 54
L = - W E s hTE
b))
1
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https://phet.colorado.edu/
https://youtu.be/kA9-mxViiiw
https://youtu.be/-vSWWnfUuuc

External tool, Chemvantage Quiz

v 2.

@ 3.

- What is the oxidation number of nitrogen in NO57(aq)?

Enter the comect numerncal value to 1.0% precision. Express scientific notation fke 4 20E-15

[

When aqueous solutions of CaBr; and NH4OH are mixed, what happens?
Select onty the best answen

» no reaction
« (Ca(OH), precipitates

« NHyBr precipitates
e (Ca(NHy)> precipitates
« BrOH precipitates

The number of hydrogen atoms in the formula unit for sodium bicarbonate is
Enter the comect numencal value to 1.0% precision. Express scentific notation ke 4 20E-15

il



https://docs.moodle.org/en/LTI_and_Moodle

Moodle quiz
Moodle question bank
Simple questions

16



True False question type

True/False question type

1 kg Cotton will weigh more than 1 kg Iron.

<h5>True/ False question type</h5><br>
Heading tag Line break tag
<span class="multilang" lang="en"> 1 kg Cotton
will weigh more than 1 kg lron</span>

<span class="multilang" lang="el"> Aoyika éva
KWAG (1 kg) BapPBdxt eivar o «Bapui», amno éva
KWAG (1 kg) oidnpo.</span>
Multi la: Select one:

= True X

' False

A given volume of iron will weigh more than the same volume of cotton.!

The weight of a body is proportional to its mass. So, bodies with equal masses have equal weights.



https://youtu.be/aAsXQHsWI9c

Short Answer question type

€ (' stemwidetestinginfo/questionpn  £3 € Q Search "8 e O =

Preview question: Short-Answer question

S e e ko voug Bppous spdyei e pixev 10 yagie §. Sanaypoog ot
olihouse OupS. XPRORPOROLIAL T0 KITEAMAD CUBBCAD TS ERSOMTEG Svijos Te(
Mpaaoxt) Mty ST svd TANKIPOAO WAL
T mepaleypa 15514 xa ON 15 > 341
Aevwwnr| 1052053054040 60570:80>50 |

Stant sgen »3“ il o comect esponses | Sobowt and fash  Close prevew

Tochncal wiommaton @ »

- Attempt options
Answer2 | 10>20>30>40>50>60>70>80>90 | Grade| None v
Foodback & meown - | B| 1 = |iE| I

The order is not descending, the inequality symbol is not correct! H oeipa Sev eivar plivouoa, To olpPoho avicdrnTag dev sival
To owoTal



https://youtu.be/aAsXQHsWI9c

Multiple choice one answer question
type

Select one:
. B6%

w T0% ™ You probably included the percentage of the surface which has an altitude between 2 km and 3 km.
Have vou take into account that there are negative altitudes?

o 82%

H anavrnon dev eival owarr
F%+13%+42%+24%=82% r 100%-(2-3%+3*4%)=82%
The comect answer is: 82%

Karavopr dipoug (%]

-
=

L L L) R L

0 -8 -T -6 -5 -4 =3 =2 -1 0 1 2 3 4 5 & T
Ydopetpo (Km)



https://youtu.be/h2oUVBVGn1g

Multiple choice multiple answers
: question type

1
Guaation Multiple Choice question type

Mol yel anzsaned

Marked autaf 1.00

Select the sentences that you think they are CORRECT.

If you select & wrong one you lose points!
If you divide a piece of plasticine into two equal pieces, then each of the pieces cbtained will have:

Select one or more:
1. Less mass than the mass of the original piece.

2. Volume smaller than the velume of the criginal piece..
t depend on mass and volume. It

+ 3. Lower density than the density of the orginal piece. ® The density of a materal does no

has the same value.

Your answer is partially comect.

You have selected too many options.
= You have divide the piece of plasticine into two equal pieces! Therefore, they have smaller volume and mass than the ongina

piece.
Since it is the same matenal density is the same.

- Lo

The comect answer is: Less mass than the mass of the onginal piece., Volume smaller than the volume of the onginal piece..

20


https://youtu.be/slkKWHA003Y

Matching question type

ausstion 1

Matching question type

Mot anzweraed

Marked autof 1.00
The different states of matter.

‘Matc:h:

nRF

= =

E = U vy
|

g =&

1 ¢



https://youtu.be/vZr7uDHPacw

Numerical question type

mmmamw,mmmme,h?mﬂmﬁmmwmhmmmmmﬁaﬁmam.
=11l N-m

lts value is approximately G =6.674 - 10 S
kg

The emor in this question is 1+ 10717,

Fill the text box with an acceptable number and the unit of the constant.

Answer [E.E?d-E—ﬂ Nm*2kg"-2 ]./

Answer 1 | 6.6T4E-11

Okl
6.673...6.675E— 11 NmA2kgh— 2 (Nm»2/ kg2)
The comect answer is: 6.674E-11 Nm*2kg"-2



https://docs.moodle.org/en/Numerical_question_type
https://youtu.be/w0mYQ5FSqIA

Moodle question bank
Complex
questions

23



.

= % Embedded answers Cloze question

Embedded answers (Cloze) question

To construct the graph of a secendary functien, the parable, the
following methed is proposed:

We find the symmetry axis
We find the top
We find the intersection points with the two axes.

We design the line

Let's apply these to the construction of the parabola
y=r*+2r—3

. o 8

The symmetry as is the line (£) v = —fE
8 A

Its peak is the point K { —aqz, — 55 [1= 1

Intersects the axis y'y at point A | , |

Intersects the negative semi axis to point B |
} and the positive to point I |

Enter only numbers and without spaces between them!

()

24


https://youtu.be/gbM5poCrKW0
https://docs.moodle.org/en/Embedded_Answers_(Cloze)_question_type

Select missing words question type

State whether the phrases are right or wrong

If the phrase is wrong/false select “07, otherwise select 17

1.mhmmﬂmmmmmwmﬁmmmwmmmmm:| ‘l’l

z.mhmmﬂmmmmwhmﬁﬁdhﬂmmmmm:| ‘l’l

3. The equalty * + 4"~ 2¢w=(x-u)’ s notan identi: v

4.Ilu+f!=5l'mu2+2|:ﬁ+p2=25;| 1r|

No wivee ne npdine. Zupe owerd, avaloya pe T XPamaTo (1 NpdT Kl N TEROPT WMo Srouy
endvmon oTo Aoukd yplpo )

$$\eft( inc(3)(2) \nght)~ {-2)5$ = (18]

S5\ eft{Veft(-2\nght)~ (0} \nght]~ (3)8$ = [(7]]

sS\eft(2 () \nght)~ {-1)$8 = [[10])

$sVeft- Wmc(2)(3) \nght)~{12) \edot Veft( \frac{2)(3) \nght)~ {-14)$% = ((2])
$54°{12)88 : $527°{20)8$ = [[9]]

$5UefR(0,01\nght) ~ (3)85 : $510°{5)ss = [[14))

I



https://youtu.be/9g2EQhupLOI
https://docs.moodle.org/en/Select_missing_words_question_type

Q Drag and drop into text question type

Fewin L) Sneange « Google Chvame - ] x

2 w;’.vm«-ﬂo,-q\mum.';rnw pho Tl ‘Iléﬂ;'k;vwwmd-."»lfaa.ar.wv « 18 conecinest~ | imand Q

Preview question: 103 _dinamiaplespraxess

Serre 1 W et NI DI S A 1 YU RSSEIE 1 N 83 N ISR M) s s
o 998 MU ]

= e
O N s
(=)~ &
(-3)° () ()
™ -w

' - b
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https://youtu.be/YHPWVbeTbyM
https://docs.moodle.org/en/Drag_and_drop_into_text_question_type

h Drag and drop onto image question type

i

)
|-:ﬁ'ﬂ:|
!'MIL»

BB n

TEOg s =0

b i b SRS

= Draggable tems

L Shuffie dong tems each time Guestion & Mtemgted

Draggatile iterm 1 T1¥E
‘mn



https://youtu.be/w50hA4On1q0
https://docs.moodle.org/en/Drag_and_drop_onto_image_question_type

* Drag and drop markers question type
b / \‘l"‘.

G (s



https://youtu.be/KTCmySWxZOk
https://docs.moodle.org/en/Drag_and_drop_markers_question_type

Pattern match question

Preview question: Pattern-match question

e\ Tt . —
Pattern-ematch question type

I d

et 108 ot o

. Toaw tvndee SBhimcte 42y t0 MO\ emueddey oto wepd.

Elnyton odaops ro pari My pnsyoreden
TIpoRsrepeg ame 20 Ao

Answw

P

 ——



https://youtu.be/JjZOM1EFPw4
http://www.open.edu/openlearncreate/mod/oucontent/view.php?id=52747&section=2.2.1

Moodle question bank
Mathematical
questions

30



Simple calculated question type

Solve for x: {a}"x+{b}={c} General eedback @ |/ || rwsan + | B 1 |32 ]i2]|

The equation root is \( x= \frac{{c}}{{a}}- irac{{b}}H{{a}} \)
H pido Tg efiowong eivan x= \rac{{c}H{a}}- \rac{{b{H{a}}

b ssidizdeeh i e

Sot 10 {c)(a)-(b)(a) i%;ﬁ“:ﬁ:ﬁﬁﬁ% \fLac_{{C}}{{a}}
- wildcard

H owon) amavinon  2.76 civas ptoa ora dpsa I IRV 15 .ﬁrmva’.[?.ﬁﬂ ]‘f
Min; 2 75 — Max 277

Set 8 (cyaj{b){a) MABESIBE=108 Okl
M Owo andvinon 100 civon ptoa 010 S NG TPayRKnKC TG B -
M 1 0713053488372 — Max 1 0013953488372 The equation root i=s ¢ = —lf‘i? —%

The comect answer is: 7.59



https://youtu.be/kLf0l5XV_Y8
https://docs.moodle.org/en/Simple_calculated_question_type

Calculated multichoice question type

- — 1 —

Paragraph  « | | B I .

Convert from decimal to binary the number {n}|  General feedback @ | |

The correct answer is \( {=decbin({n})} )

Decimaiplaces 0 v

Answers

Set 10
Choice 1 () |{=decbin{{n}]}
Shared wild card (n) 7
Select one:
(=decbin((n})) (~decbn(7}} ® 100
m
(=decbin{(n)*10)) (=decbin(7°10)) i 110
1000110 _
(=decbin((n}+2)) (~Cecbin(7+2)] 101000
> 1001 101
(=decbin((n)+1)) (=decbhin(7+1)}
1000

Your answer is correct.

The correct answer is 1(){)



https://youtu.be/n1ChqMQ5U7I
https://docs.moodle.org/en/Calculated_multichoice_question_type

Calculated question type

An object has a mass of {m} kg and an acceleration of {a} m/s2. Edit the wildcards datasets:

Answer 1 formula=  {m}*{a} S
m
Tolerance % | 0.01 |T}rpe| Nominal  ~ | a

Unit handling | The unit must be given, and will be graded.

Unit penalty @ | 0.4000000 | | as a fraction (0-1) of the response grade v

Unit1 @ N Multiplier | 1 _ Answer:[11.31 N ]s/
Unit 2 kgm*2s"-2 Multiplier 1
okl
Unit 3 kgm*2/s*2 Multiplier 1

The force on the object is F=ma=2.9"39 N



https://youtu.be/2C5cmTt8HDY
https://docs.moodle.org/en/Calculated_question_type

Multinumerical question type

Find X and Y such that

x:l? |
X+Y =20 r -
Yis |
X*Y =35 . _
Parameters [N
OK . X+Y <20
Constraings X +Y <20 « Verified constraint : 12.00 < 20.00
X*'Y>3¥
No, X+

« Unverified constraint : 35.00 = 35.00

Per constraint feedbock OK X+ Y <20 |No X+ Y >= 201
b OK X*Y>J3|No X+Y



https://youtu.be/9e3soBnxeyc

Variable numeric set question type

Consider numbers g = 1) &b = 2.

Calculate the sum of the mean value with the remainder of the division ¢ / b

' Predefined variable ¥ | | Calculated variable ¥ |

Variable 1 @ | a Variable 3 (%) |c:=average[a, b

Value for variant 1 (2 | 10 | Calculated variable ¥ |

Variable 4 @ | d=mod(a,b)

Value for variant 2 | 20

Calculated variable ¥ -
Value for variant 3 | 30 | | Answer:
(]
Variable 5 (0 f=c+d [
Value for variant 4 | 40 »

Value for variant 5 | 50

Mean value =
Division remainder (a, b) =

Sum=§



https://youtu.be/BnMON4Glf7E
http://www.open.edu/openlearncreate/mod/oucontent/view.php?id=52747&section=2.1.3

Variable numeric sets with units

Aforce OTH acts on the block at the angle 8 = 60" shown in the diagram. The
block moves a horizontal distance of s=2 m. How much work is done by the applied force?

Predefined variable ¥ |

Variable 1 (3 7 |

Unit1 (2

Value forvariant1 (3 1

match(J|Joule|lkgm#2s*-2|kgm*2/s*2)

| Calculated variable v

Variable 3 () |w=f"5*c05{pi{]f3] Answer

3 w.-z

v

W Fezvcom=SS b
The correct numencal pant of the question 5. 55



https://youtu.be/qmlrW7oDKyw
http://www.open.edu/openlearncreate/mod/oucontent/view.php?id=52747&section=2.1.4

Moodle question bank
Geogebra
question type

ol



h The first idea

et Dete S Purkt 24 (3 51 8}

GeaGebra

GeoGebra Fragetypplugin fiir Moodle
Christoph Stadlbauer

https://youtu.be/n6IDUytOIMY



https://youtu.be/n6IDUytQlMY
https://dev.geogebra.org/trac/wiki/Moodle/QuestionTypeGeoGebra

«‘1& 01 Simple question

The Boolean variable is: Distance of points A,B is less than 0.1

Line . T

Drag the blue point B to point A = (3, 4|]| and submit the question.

() £-07x+ 071y~ 0
10 1
() & -071x-071y = 0
B_
Mumber
E|_
AB — 3.01
BS — 2.02 )
O . ] |
0 ® > ®
0 T
0 2 4 ] B 10 12 14 16 18



https://youtu.be/_RoEmzSI0j8
https://moodle.org/plugins/qtype_geogebra

02 Boolean variables, Geofebra
operators, Spreadsheet, Checboxes

0 @ a-lalse
0 ® b=itrue
® c-lalse
checkand = rug
chechbongs = rsd
chechnamnd = Lalas
chechnod = lakia
- Chacimol = D
E A 8 AvB) Chechor = Lalss
solved = laise
Wi ohg = ITie

1
0 1 Blpcdean 'V abes
1
0

© - O -

O O - -

variable 1 @ vanaple ¢ S0ved Grage | 100%

""A A Bl.'lﬁ, A B i Do Feedback (B  Amavinoec ae GAEC TIC EPWITAGE TwaTal All Dptions are correct
=(A v Bl==A A B o/ |bou2 ; - e
(A v B)= M Variable 2  vypjapje 2 WIong Grage NOnE

Feedback LBV ATIEVTNOLC OWOTA T8 KATTOIE () KATTORS ammd Tic EpwTioe

PP There is at least one wrong choice

AND=NOR f|bocd


https://youtu.be/UexAOoemOrs

03 Sliders, Placeholders, Random
values

General feedback (7 Paragraph v|| B T |

==

‘ ‘ ‘ The slope is H khion eivar {m}
Move the slider to indicate the slope of the line. _".'“‘
smpexﬁ.fq =3
1
1]
-2 -1 a 1 2 3 4 5 <]
| | | | |
Variable 1 3  \riable 1 Sohed Grade 10% [+
-1
Feedback (P | H amédvinod oou s guward! Right
s Variable 2 \iyriable 2 unsoled Ceade MNone EI
Feedback  H amivmer cou sivan Am@aopsm Wrong
-3 Blanks for 1 more vanable(s)



https://youtu.be/QUj-C16X87k

04 Sliders, Checkboxes, Random
values in Algebra

[ / mthpt we don't have roots.

H H 10 12 14 1 1 »
X=5 Kal y=5 Variable 1 ©  yariable 1 sobed Grade| 100% ||
Feedback (@ | H amévimon sou shar ouor! Right
I="5 KaL ?=5 Variable 2 ytigble 2 unsohed Grade Mone EI
Feedback | H amivinor cou sha Aavaopm Wrong
¥=-5 Kal }"=5 Blanks for 1 more vasiable(s)
¥=0Kkary=35



https://youtu.be/gqqOZZyizx4

[
=

& % I8 S &

05 Moving point on other Point in
Geomeiry

(R] A 7 D> @O &L N ae

X

g i/ﬁ\ o

¥
AB=29

Show Icon to Reset Construction
Enable Shift-Drag & Zoom

Show Menu

Show Toolbar

Show Input Bar

Construct a triangle ABI' with AB =7, B'=6

And angle BAI" 45 degrees.

After completing the above, move point X on point I

In this way you will enable Moodle to check your answer?

Varlable 1 (3 varigble 1 sohed Grage 100% o
Feedback ()  H amdvinar cou sivan cuwsaril nght
Variable 2 yyriable 2 unsolved Grade Mone o

Blanks for 1 more vanable(s)
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https://youtu.be/igfMOju2es8

06 Moving point on other Point in
Physics

Ha perapépeis To anuelo X oro onjssla Trg Tpoyuds rou
) TG T EXEL TV SRS TH) ThE. [ [
Drag the paiivl X 1o the point where the velozity has its minimiim value,

] F o 4 ] 2 T -] wl ] Nld
Varlable 1 @ Variable 1 sohed Grade | 100%
Feedback (B  H amdving oou svar cwerd! Right
Variable 2 \iighie 2 unsoked Grade Mone B
ki 1o gou ehvan havdagpén Wrong

Blanks for 1 more variable(s)



https://youtu.be/je9T_X1b7EE

07 Moving point on other Point in
Chemistry, Write in the colored cell

A B
1 7 0.25
* 2
. . Variable 1 Variable 1 solved Grade 100%
L]

- Feedback Eivan owotég ki o Suo amavirijozigl Both answers are correct!

P Variable 2 \jyiaple 7| Solved20 Grade| 50%

T i ik 1 El

Feedback @ IwoTr n ouykevipwon, MBog To onueio. Correct concentration, wror

Variable 3 ypiaple 3 solvedinit Grade 90%

Feedback @ ZwoTd onpeio, Mbog ouykévipwon. Correct point ,wrong concentrati

Variable 4  vyraple 4| Wrong Grade MNone

Feedback | Eival aavBoopévec kan o1 Suo amaviriozig. Both answers are incorrect


https://youtu.be/qBl1fpf9P3A

Moodle question bank
Formulas
question type

The project

Documentation

Tutorial

46


https://code.google.com/archive/p/moodle-coordinate-question/
https://code.google.com/archive/p/moodle-coordinate-question/wikis/Documentation.wiki
https://code.google.com/archive/p/moodle-coordinate-question/wikis/Tutorial.wiki

01 Simple question

« Part 1

Part's mark” (3 | 1 |

Example 1 Simple question Local variables* (%) |

Answer type (3 | Number v

What is 3 + 47

Answer* @) | 7

Grading variables* (3 |

One possible correct answer is: 7

[ Grading criteria* (3 | Absolute error ¥ | =

Unit @) |

Other rules* (@) |

Placeholder name (3 |



https://youtu.be/Ksa-jyxt1Tk
https://moodle.org/plugins/qtype_formulas

02 Placehoders Numbers Numerics
Units

¥ is the student’s answer nswer the questions: | Answer the Questions
a is the correct answer fhatis 1+ 27 {#1} Whatis 1+ 2?7
relative error < 0.01 Ihatis \(rac{1{2}+\frac{1}31)? {#2} 3
|x — al < 0.01 thatis \(\sqrt{ frac{16}{9} })? {#3} One possible comect answer is’ 3
Acceptable x: “ 099a < x < 1.01a onvert \(36Wfracfkmih})to oto S| {#4} What s * + i?
If
5
a=g
0.825 < x < 0.841667 -

absolute error < 0.01 One possible comect answer 15 0 83333333333313

|x = al < 0.01 What 15 ﬂ‘) b

Acceptablex: a-001<x<a+ 001
g san(169)

If
One possible correct answer 15 1 3333333333333

16

: Comvent 3642 0 51
13233333 < x < 1.34333

10 mvs

One possible comect answer is. 10 mis



https://youtu.be/MysR-xq8j7U
https://moodle.org/mod/forum/discuss.php?d=163345

03 Multiple answer boxes, Units -
Names Matrix

Part 3
z
(3.0, 5.0] 4.0)
VWhat are the coordinates of point A? |[x={ 0}, y={ 1}, z=[ 2}
What are the coordinates of point A7 x =| 3 | y =| =i |z=| 4 |

One pessible comect answeris: 3, 5, 4

Part 4

What is the theldentity matm:: j'_;

('I 1 o I) \( \left(\begin{array}{c} Wiend{array}iright.\) 3_{_;,"} f—;} \(\left.\begin{array}{cl\\\end{array}iright)\)

SOl EI

One possible comect answeris: 1, 0,0, 1

49


https://youtu.be/E1ysceBxf6E

Random variables (3)  x1=[-6-5-4};
What is the root of quadratic equation? X2 = {-1.-2.-3)
f(z) =0 s = {0:4);
f(z) = x? + 8z + 15| (smaller first))
1= | | %= | _| Global variables () | b =-(x1 + x2);
C=x1"2;
S'jfmbﬂl - pk:k{s,lltll,lwl,lell,llzll};

Part's text (7)

04 Variables and random values

- Part 1

Part's mark* (7

Local variables* (3

== m €

Paragraph - | | B I

E=

pe @

\( f({symbol}) = {symbol}*2 + {b} {symbol} + {c}\) ? (smaller first)|

{symbol}y = {_0} or n {symbol}; = { 1} er (@

NMumber



https://youtu.be/8BWwzgIRofE

05 Simple algebraic question

Part's mark* (3 1 |

Answer type (@) Algebraic formula -

Answer* (O | "sqri(x"2 + y*2)"

[ Grading criteria* (?) | Absolute error vl < v[ie10

What is length of the vector (x.y)7? [5qu{1“2 +y"2) ]s/

One possible correct answer is: sqri(x*2 + y*2)

Your answer is correct.



https://youtu.be/pjGBp12ThD8

06 Algebraic question with variation

Part's mark* (%) 2 |
Local variables* (3 x={1:100}; Rand iables () -
base = a'b. ndom variables z:{gzg }.
expo = b-1; -8
Answertype (I) | Algebraic formula v Differentiate: -EE“‘[
Answer @ | "base x"expo” Differentiate: 5z
Grading variables* (%)
20 '3
() Grading criteria* @) | Absolute error ¥ | < ¥ [1a.10 Algebraic formula

Eﬂ-x’[}



https://youtu.be/kXplugYL9_4

.

07 Multiple correct answers Grading

(] (]
ctiteria
e Answer* [18,-1]
Multiplying of two factors of — 18]
=-18 Grading criteria® 0% 1==-18
Part 2
Answer*

A number x that is a multiple of 7 and 40 < x < 50.

= Grading criteria*

Part 3

A number x that is a multiple of 7 and 6 < x < 16.
Answer type

x:
Answer
Random variables a={E1DD?}
n={1,2,3}, ing variables*
d= {4.5.6}.

Grading criteria®

42

_0==42 || _0==49

MNumber ¥

a+h

criterion1=_0 % 7==0;
criterion2= a<_0 && 0<a+10

criterion? && criterion2
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https://youtu.be/LV4ZBksjIl8

Moodle question bank
Wiris
question type

The tools

Introduction to WIRIS quizzes

Moodle demo site

54


http://www.wiris.com/
https://youtu.be/sdaFU-XPd_A
http://www.wiris.com/moodle/demo/

01 Numbers- Biology

A cell population doubles every 30 periods. Starting with 1000 cells, how many will be
there after 300 periods?

Answer 1 300 ' '
=5 Grade | 100% v
10002 3° E |- -|

i

Correct answer



https://youtu.be/zQiyQ8uyRM0
https://docs.moodle.org/all/es/WIRIS

= % 02 Quantities and Units - Geometry

Correct answer

2 3 ¢ lviym o ()

What's the radius of a disc of area 10 crm”™?

Validation
: 10 cm?
Variables T
Correct answer Allowed input
L General (formulas, expressions, equations, matrices...)
Validation o . : : : :
* Quantity (numbers, measure units, fractions, mixed fractions, ratios...)
Variables Text (words, sentences, character strings)
Answer:
O Question 1
‘ g T vOo¥d

Correct

10 _ Mark 1.00 out of
‘l,ll'_'m m 1.00
]'[ .


https://youtu.be/WU0eQv1dv2M
https://moodle.org/plugins/view.php?id=26

% 03 Random variables - Geometry

What's the radius of a disc of area 27 What's the radius of a disc of area #a? |

Answer 1 #- a .
[ 100% v
- E Grade

4 Validation and variables

Comparison: Tolerance digits: 2
Variables: Has algorithm

(£ WIRIS cas

Edit | Dperations | Symbols l.&nalysis ll‘-.ﬂatrix lLIn'rts lCDﬂ‘ﬂ

|. Correct answer @ @O |8 0° o | X °O|Id
' Validation Mo oo, %5 & AW
| Variables

[ Preview | a=random(1,10) =]

|



https://youtu.be/WaxSONjI5lQ
http://www.wiris.net/demo/wiris/manual/en/html/tour/equacions.html

=4 04 Simplification Calculations - Arithmetic

Calculate: Answer1
9+2-5

Calculate: |

#a+ #b - #r

Correct answer
Validation
Variables

Preview

#r E
Validation and variables

Tolerance digits: 2
is simplified
Has algorithm

| £+ WIRIS cas

Symhuls_l._ﬂ-.nalysis_l;ﬂatri;lzln'rts_lt_:umb

@ @ ol

& 0° WO | E O | [0«
@ o oo, % &4 0w
|O Sguare brackets (vectars) |
| a=random(1,10)
| b=random(2,5)
c=random|(2,5) —
' =

| r=a+b-c

r

Grade 100%

Additional properties

Structure;
none

Mare:
#! is simplified
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https://youtu.be/XkHCZnvSUM4

" «‘1& 05 Graphs- Plot- Coordinates

What's the radius of this circumference? Answer1 .
A

Validation and variables

Tolerance digits: 2
Has algorithm

_| r = random(1,5)

| c=point(random(-5,5) ,random(-5,5))
window_width=400
window_height=400
width=21

height=21

| plot(cfr(c,r),{line_width=2,color=blue})

p=plotter

_| plot(c,{point_size=10})
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https://youtu.be/mVW__Y7IEIc

= % 06 Factorization- Algebra

Factorize the polynomial: is simplified, is factorized
2 2 :
16-x“+24-x—4-y°+9 Has algorithm
Any correct answer is acceptable. The answer should not contain terms that can accept
firrthar farfnrize repeat
Answer: a=random(2..7)
b=random(2..7)
(4-x-2-y+3)-(4-x+2-y+3)@ c=random(2..7)

p=(a-x+b)?-(c-y)?
q=factor(p)

16-x2+24-x—4-y2+9 until aFbAb=+c

cl1=c?
Polynomial terms that do not contain } are a perfect square trinon
=stri ituti " X)2 +2-#1-#2+ (#2)2-#3-y2",a,b,c1)
N2 o 2 4.2 e0=string_substitution (" (#1 -x) ,a,b,
(4-X)" +2-4-3+(3)° - 4-y e1=string_substitution (" (#1 - x+ #2)2 - #3-y2" a.b,c1)
i +3)2 —4- Vz e2=string_substitution (" (#1 -x+ #2)2- (#3-y)2",a,b,c)
This can also be writen as the difference of two squares p = 49-x2+84.x-16-y?+36
2 2. 2
. 2_n .02 e0 =» (7-x)2 +2-7-6+(6)°-16-y
|-'—1- x+3} |2 l'y":l el = {7_x+6}2_16_y2
We factorize e2 = (7-x+6)?-(4-y)?

(4-x=2-y+3)-(4-x+2-y+3) q => (7-x-4-y+6) - (T-x+4-y+6)

S016-x2+24-x—4-y?+9=(4d-x—2-y+3)-(4-x+2-y+3)
The correct answeris: (4-x—2-y+3)-(4-x+2-y+3)
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https://youtu.be/lxZISQ8hl7A

% 07 Multiple sub questions -Probabilities

When throwing a fair dice, calculate the propability for each even

K: The outcome is 6

A: The outcome is a number greater than 3.

M: The outcome is a number lower than 2.

MN: The outcome is an even number.

White only the number in the gap, using simplified fractions.

w={1,2,3,4,5,6}
repeat
al=random(1..6)
a2=random(1..6)
ad=random(1..6)
until alsa2aa2=+a3
b=random({1,3,5})
c=random({2,4,6})

P{A) =

P(N) =

Answer:

P(K) =

P = @~

The propabiliy
The propabiliy
The propabiliy

The propabiliy

5]

5]

(S

(9]

of the event K={x €| x =6} is P(K)=
of the event A ={x €2| x >3}is PA)=
of the event M =

of the event N ={x € {2,4,6}}is P(B)=

[x€N| x<2}is PM)=

PlK)1=#p1l
P(A)=#p2
P(M)=#p3 m
PIN)=#p5

¢ Compound answer
All answers must be correct
= Distribute grade 25 25 25 25

The experiment sample space: (2=(1,2,3,4,5,6}

IJ||—= ml,_.

T | —

h.;'ll—-
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https://youtu.be/LdrDELHzQ_g

The Stemcollection and the Greek
t‘& effort

In Stemcollection you will find a huge collection
of questions, in a variety of languages and free
to download.

Vasilis Palilis has contributed to this collection by
publishing his own Greek questions. We hope to
see soon your own gquestions in Stemcollection!

https://stemcollection.com/om/57/el
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https://stemcollection.com/om/57/el
https://stemcollection.com/home

" % They say about us...

We have already run a pilot circle. These are
comments from some of the participants:

The activity helped me to "demystify "and become familiar
with the subject.

Very useful because | did not know how to use these editors
to easily add types. | would have probably made them
elsewhere and add them as a picture!

The power of this course is the resources that are given for
integrating simulations into lessons and activities.

| learned question types that | did not know. The content is
very useful.

Difficult when you first start, but then it gives the ability to
create differentiated questions, which is too useful!

63



: % We start again ...

A new circle starts on 25 January
2019

See more about this:

hitps:/stem./widetraining.qgr/



https://www.widetraining.gr/

% Questions?

Yiannis Arapoglou

General manager
E-Learning Business Consultant

WideServices

Vasilis Palilis

Instructional & Moodle Course Designer

@ learn-era.gr & wideservices.gr

Moodle Mentor Assessor @ widetraining.gr
Cerlified Adult educator

Physicist & Teacher
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http://learn-era.gr/moodle/course/view.php?id=124

